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C|E|JE|E|C|E|C|C
3141414141322
1] 8339 (10| 9] 6] 9| 9|10(10|10| 9,067 30
2| 8359 (10| 8| 7| 8] 9] 9|10{10( 8,833 30
3| 8365 | 7| 7| 7| 6| 8] 8] 6|10 7,233] 30|/ OM1/OM2, AHP
4] 8366 | 7| 5| O] 5] 7| 6| 7|10 26|SM, Ed fiz1-adm/ Termoth2, OM1, Ed fiz3-adm/AHP
5| 8399 (10| 9| 9| 8|10] 8]|10{10( 9,133 30
6| 8407 | 7| O 8] 5| 9] 6| 7|10 26
7| 8440 (10| 5| 7| 8] 9] 9|10{10| 8,167 30
8| 8466 (10| O 9| 8| 9] 8|10{10 26| -/OM2, AHP
9| 8479 | O] O O O] O] Of Of10 2|Mec2 /RM2, OM1, PAC, Tribologie, VM, Ed fiz3, Practica dom/OM2, MUPA, Automatica, Lb1, AHP, Practica spec
10| 8483 | 9| O] 8| 5] 9| 7| 6|10 26| -/OM1, Tribologie-7, VM/OM2, AHP, Practica spec
11| 8495 | 9] 5| 6] 6| 5| 8| 7/10| 6,833] 30
12| 8513 [10] 7] 9| 9{10| 9|10{10| 9,233| 30
13| 8514 | 9] O] 8| 6| 8] 7| 8] O 24|Ed fiz1/Mecanisme, Termoth2, TCD, RM2, Tribologie, VM/AHP, Practica spec
14| 8519 [10] O] 7| 7| 9| 8|10]/10 26] -/OM2
15| 8524 [10/10]| 9|10{10{10|10{10| 9,867 30
16| 8543 [10]10] 7| 8| 8| 8| 8|10 8,733| 30




17| 8555 | 7|10 8| 7| 7| 8| 7]10| 7,967| 30|/OM1/-

18| 8560 |10|10{10{10]/10{10| 9/10] 9,933| 30

19| 8577 | O O] O] O] Of O] O] O 0[-/RM1, OM1/OM2

20| 8604 | 9] 7| 7| 8| 9] 6[10{10| 8,033| 30|TIT1 /RM2/0OM2

21| 8633 (10| 7| 7| 7[10] 7]10]10 8,5 30

221 8639 | 71 O] 9 7| 7| 7| 7| 9 26| -/OM2

23| 8650 | 8| 5| 7| 8| 7| 6| 8|10 7,267| 30|TIT1/OM1, Tribologie-7, VM/OM2, MUPA, AHP, Practica spec
24| 8654 | 9] O O] 6| 7| 6] 9|10 22|-/Mecanisme, OM1/OM2, AHP

25| 8688 [10| 6| 8| 5| 6] 8| 9[10| 7,467 30|-/OM2

26| 8698 [10] 9| 7| 8| 9| 8|10|10| 8,867| 30




